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Question Numbers : (1 to 5)
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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827040132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270157641. 1
878270157642. 2
878270157643. 3

878270157644. 4

Question Number : 2 Question Id : 87827040133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270157645. 1

878270157646. 2

878270157647. 3



878270157648. 4

Question Number : 3 Question Id : 87827040134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km
) 720 km
) 740 km
)

(2
(3
() 540 km

ey

Options :

878270157649. 1
878270157650. 2
878270157651. 3

878270157652. 4

Question Number : 4 Question Id : 87827040135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

(2) 120 hours
(3) 108 hours
(4) 92 hours
Options:

878270157653. 1



878270157654. 2
878270157655. 3

878270157656. 4

Question Number : 5 Question Id : 87827040136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours
(3) 48 hours
(4) 56 hours
Options :

878270157657. 1
878270157658. 2
878270157659. 3

878270157660. 4

Question Id : 87827040131 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827040132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270157641. 1
878270157642. 2
878270157643. 3



878270157644. 4

Question Number : 2 Question Id : 87827040133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 409

() 309

(3) 809

(4) 6092
Options :
878270157645. 1
878270157646. 2
878270157647. 3

878270157648. 4

Question Number : 3 Question Id : 87827040134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270157651. 3

878270157652. 4

Question Number : 4 Question Id : 87827040135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157653. 1
878270157654. 2
878270157655. 3

878270157656. 4

Question Number : 5 Question Id : 87827040136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) 569
Options:
878270157657. 1
878270157658. 2
878270157659. 3
878270157660. 4
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Question Number : 6 Question Id : 87827040137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270157661. 1
878270157662. 2
878270157663. 3

878270157664. 4



Question Number : 6 Question Id : 87827040137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157661. 1
878270157662. 2
878270157663. 3

878270157664. 4

Question Number : 7 Question Id : 87827040138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270157665. 1
878270157666. 2
878270157667. 3

878270157668. 4



Question Number : 7 Question Id : 87827040138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270157665. 1
878270157666. 2
878270157667. 3

878270157668. 4

Question Number : 8 Question Id : 87827040139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



878270157669. 1
878270157670. 2
878270157671. 3

878270157672. 4

Question Number : 8 Question Id : 87827040139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157669. 1
878270157670. 2
878270157671.3

878270157672. 4

Question Number : 9 Question Id : 87827040140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270157673. 1
878270157674. 2
878270157675. 3
878270157676. 4

Question Number : 9 Question Id : 87827040140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157673. 1
878270157674. 2
878270157675. 3

878270157676. 4

Question Number : 10 Question Id : 87827040141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270157677. 1
878270157678. 2
878270157679. 3

878270157680. 4

Question Number : 10 Question Id : 87827040141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270157677. 1
878270157678. 2
878270157679. 3

878270157680. 4

Question Number : 11 Question Id : 87827040142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270157681. 1
878270157682. 2
878270157683. 3

878270157684. 4

Question Number : 11 Question Id : 87827040142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270157681. 1
878270157682. 2
878270157683. 3

878270157684. 4

Question Number : 12 Question Id : 87827040143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270157685. 1

878270157686. 2

878270157687. 3

878270157688. 4

Question Number : 12 Question Id : 87827040143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270157685. 1

878270157686. 2

878270157687. 3

878270157688. 4

Question Number : 13 Question Id : 87827040144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270157689. 1
878270157690. 2
878270157691. 3

878270157692. 4

Question Number : 13 Question Id : 87827040144 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157689. 1
878270157690. 2
878270157691. 3

878270157692. 4

Question Number : 14 Question Id : 87827040145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270157693. 1
878270157694. 2
878270157695. 3

878270157696. 4

Question Number : 14 Question Id : 87827040145 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157693. 1
878270157694. 2
878270157695. 3

878270157696. 4

Question Number : 15 Question Id : 87827040146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270157697. 1
878270157698. 2
878270157699. 3

878270157700. 4



Question Number : 15 Question Id : 87827040146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157697. 1
878270157698. 2
878270157699. 3

878270157700. 4

Question Number : 16 Question Id : 87827040147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270157701. 1
878270157702. 2
878270157703. 3

878270157704. 4

Question Number : 16 Question Id : 87827040147 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157701. 1
878270157702. 2
878270157703. 3

878270157704. 4

Question Number : 17 Question Id : 87827040148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270157705. 1
878270157706. 2
878270157707. 3

878270157708. 4

Question Number : 17 Question Id : 87827040148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157705. 1
878270157706. 2
878270157707. 3
878270157708. 4

Question Number : 18 Question Id : 87827040149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270157709. 1
878270157710. 2

878270157711.3



878270157712. 4

Question Number : 18 Question Id : 87827040149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157709. 1

878270157710. 2

878270157711. 3

878270157712. 4

Question Number : 19 Question Id : 87827040150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270157713. 1

878270157714. 2

878270157715. 3

878270157716. 4

Question Number : 19 Question Id : 87827040150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2

(2) YT 13 AR 11 S T §

(3) YT TR &, Wifehd e 11 7Terd ¢

(4) U T &, TR HOR LT &

Options :

878270157713. 1

878270157714. 2

878270157715. 3



878270157716. 4

Question Number : 20 Question Id : 87827040151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270157717.1

878270157718. 2

878270157719. 3

878270157720. 4

Question Number : 20 Question Id : 87827040151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270157717.1
878270157718. 2
878270157719. 3

878270157720. 4

Question Number : 21 Question Id : 87827040152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options:
878270157721. 1
878270157722. 2
878270157723. 3

878270157724. 4



Question Number : 21 Question Id : 87827040152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270157721. 1
878270157722. 2
878270157723. 3

878270157724. 4

Question Number : 22 Question Id : 87827040153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270157725. 1
878270157726. 2
878270157727.3

878270157728. 4



Question Number : 22 Question Id : 87827040153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270157725. 1
878270157726. 2
878270157727.3

878270157728. 4

Question Number : 23 Question Id : 87827040154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270157729. 1
878270157730. 2
878270157731. 3
878270157732. 4



Question Number : 23 Question Id : 87827040154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270157729. 1
878270157730. 2
878270157731.3

878270157732. 4

Question Number : 24 Question Id : 87827040155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllmviﬂg number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270157733. 1
878270157734. 2
878270157735. 3

878270157736. 4



Question Number : 24 Question Id : 87827040155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270157733. 1
878270157734. 2
878270157735. 3
878270157736. 4

Question Number : 25 Question Id : 87827040156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13=%
o 13
(3) 10%
2
15=%
HRES
Options:

878270157737. 1
878270157738. 2

878270157739. 3



878270157740. 4

Question Number : 25 Question Id : 87827040156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

@ b3
Options :

878270157737. 1
878270157738. 2
878270157739. 3

878270157740. 4

Question Number : 26 Question Id : 87827040157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270157741. 1
878270157742. 2
878270157743. 3

878270157744. 4

Question Number : 26 Question Id : 87827040157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270157741. 1
878270157742. 2
878270157743. 3

878270157744. 4

Question Number : 27 Question Id : 87827040158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(4

No reclzmgles are nonapalvgnn.

s |

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270157745. 1

878270157746. 2

878270157747. 3

878270157748. 4

Question Number : 27 Question Id : 87827040158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270157745. 1
878270157746. 2
878270157747. 3

878270157748. 4

Question Number : 28 Question Id : 87827040159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270157749. 1
878270157750. 2
878270157751.3

878270157752. 4

Question Number : 28 Question Id : 87827040159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270157749. 1
878270157750. 2
878270157751. 3

878270157752. 4

Question Number : 29 Question Id : 87827040160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270157753. 1
878270157754. 2
878270157755. 3

878270157756. 4



Question Number : 29 Question Id : 87827040160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270157753. 1
878270157754. 2
878270157755. 3

878270157756. 4

Question Number : 30 Question Id : 87827040161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270157757. 1
878270157758. 2
878270157759. 3

878270157760. 4

Question Number : 30 Question Id : 87827040161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270157757. 1

878270157758. 2

878270157759. 3

878270157760. 4

Question Number : 31 Question Id : 87827040162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270157761. 1

878270157762. 2

878270157763. 3

878270157764. 4

Question Number : 31 Question Id : 87827040162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270157761. 1

878270157762. 2

878270157763. 3



878270157764. 4

Question Number : 32 Question Id : 87827040163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270157765. 1

878270157766. 2



878270157767.3

878270157768. 4

Question Number : 32 Question Id : 87827040163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270157765. 1
878270157766. 2
878270157767.3

878270157768. 4

Question Number : 33 Question Id : 87827040164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

878270157769. 1
878270157770. 2
878270157771.3

878270157772. 4

Question Number : 33 Question Id : 87827040164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

878270157769. 1
878270157770. 2
878270157771.3

878270157772. 4

Question Number : 34 Question Id : 87827040165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270157773. 1
878270157774. 2
878270157775. 3

878270157776. 4

Question Number : 34 Question Id : 87827040165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270157773. 1
878270157774. 2
878270157775. 3
878270157776. 4

Question Number : 35 Question Id : 87827040166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270157777. 1

878270157778. 2

878270157779. 3

878270157780. 4

Question Number : 35 Question Id : 87827040166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270157777. 1
878270157778. 2

878270157779. 3



878270157780. 4

Question Number : 36 Question Id : 87827040167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270157781. 1

878270157782. 2

878270157783. 3

878270157784. 4

Question Number : 36 Question Id : 87827040167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270157781. 1

878270157782. 2

878270157783. 3

878270157784. 4

Question Number : 37 Question Id : 87827040168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270157785. 1

878270157786. 2

878270157787. 3

878270157788. 4

Question Number : 37 Question Id : 87827040168 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270157785. 1
878270157786. 2
878270157787.3

878270157788. 4

Question Number : 38 Question Id : 87827040169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270157789. 1
878270157790. 2
878270157791. 3

878270157792. 4

Question Number : 38 Question Id : 87827040169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157789. 1
878270157790. 2
878270157791.3

878270157792. 4

Question Number : 39 Question Id : 87827040170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270157793. 1

878270157794. 2



878270157795. 3

878270157796. 4

Question Number : 39 Question Id : 87827040170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270157793. 1
878270157794. 2
878270157795. 3

878270157796. 4

Question Number : 40 Question Id : 87827040171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270157797. 1

878270157798. 2

878270157799. 3

878270157800. 4

Question Number : 40 Question Id : 87827040171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 @ A UM E
TR Tt S 3 e e 1 e 1 F e aed R 3 T F o
¢l

I TG (fewre) W @ ywe ), e 3 & w0 H A g
TR FH % el H, A4 fe0 0 forred o § He S S A I
(1) ISR BRI T
() TSR HIR 11 T
() R IT & o FIF T ¢
(4 YR LTI &, Tl B 1R
Options :

878270157797. 1

878270157798. 2



878270157799. 3
878270157800. 4

Question Number : 41 Question Id : 87827040172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270157801. 1

878270157802. 2

878270157803. 3

878270157804. 4

Question Number : 41 Question Id : 87827040172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270157801. 1

878270157802. 2



878270157803. 3

878270157804. 4

Question Number : 42 Question Id : 87827040173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270157805. 1
878270157806. 2
878270157807. 3

878270157808. 4

Question Number : 42 Question Id : 87827040173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157805. 1
878270157806. 2
878270157807. 3

878270157808. 4

Question Number : 43 Question Id : 87827040174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
878270157809. 1
878270157810. 2
878270157811. 3

878270157812. 4

Question Number : 43 Question Id : 87827040174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270157809. 1
878270157810. 2
878270157811. 3
878270157812. 4

Question Number : 44 Question Id : 87827040175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270157813. 1
878270157814. 2
878270157815. 3
878270157816. 4

Question Number : 44 Question Id : 87827040175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A1), (B)-(II), (O)-0), (D)-(IV)
(2) (A, (B)AIV), (C)-(I), (D)-(I)
3) (A1), (B}-(I), (O)-(IV), (D))
(4)  (A)HIV), (B)-(II), (C)-(1T), (D)-(T)

Options :

878270157813. 1
878270157814. 2
878270157815. 3

878270157816. 4

Question Number : 45 Question Id : 87827040176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270157817. 1

878270157818. 2

878270157819. 3

878270157820. 4

Question Number : 45 Question Id : 87827040176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4§ FH UM

FITL: T W <9 W 3 e o Feraa S o Sveredt AR o foriv Fafemel w ot o
2l

T ;T e A 2020 2 o7, T e =0 vt o forivt e o S foen e
o T ST Aol 3 e 9 witws g v S|

TIE A o e 8, 9 o o o § e e S T
(1) FOR1 R TR 78 &

(2) R 1 3 e 1 SF e

() O IR ¢, ol O 17T

(4) IR ¢, ol FTI T €



Options :

878270157817. 1
878270157818. 2
878270157819. 3
878270157820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701685
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040177 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827040178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270157821. 1
878270157822. 2
878270157823. 3

878270157824. 4

Question Number : 47 Question Id : 87827040179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270157825. 1

878270157826. 2

878270157827. 3

878270157828. 4

Question Number : 48 Question Id : 87827040180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270157829. 1
878270157830. 2
878270157831. 3

878270157832. 4

Question Number : 49 Question Id : 87827040181 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270157833. 1
878270157834. 2
878270157835. 3

878270157836. 4

:No

Question Number : 50 Question Id : 87827040182 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270157837. 1

878270157838. 2

878270157839. 3

878270157840. 4

Question Id : 87827040177 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827040178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157821. 1
878270157822. 2
878270157823. 3

878270157824. 4

Question Number : 47 Question Id : 87827040179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157825. 1

878270157826. 2

878270157827. 3

878270157828. 4

Question Number : 48 Question Id : 87827040180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270157829. 1
878270157830. 2
878270157831. 3

878270157832. 4

Question Number : 49 Question Id : 87827040181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157833. 1

878270157834, 2

878270157835. 3

878270157836. 4

Question Number : 50 Question Id : 87827040182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270157837. 1
878270157838. 2
878270157839. 3

878270157840. 4
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Question Number : 51 Question Id : 87827040183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the below material was used to water proofing the wall and floor of Breath Bath ?
Lead

Options :

878270157841. 1
878270157842. 2
878270157843. 3

878270157844. 4

Question Number : 51 Question Id : 87827040183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157841. 1
878270157842. 2

878270157843. 3

878270157844. 4



Question Number : 52 Question Id : 87827040184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

First Industrial Revolution in the World is linked up with -
(I) Making of stone tools

(2) Textile making,

(3) House Building

(4) Iron manufacturing
Options :

878270157845. 1
878270157846. 2
878270157847. 3

878270157848. 4

Question Number : 52 Question Id : 87827040184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270157845. 1
878270157846. 2
878270157847. 3

878270157848. 4



Question Number : 53 Question Id : 87827040185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Name the Purana, that refers to Bharat, as a geographical unit.
(1) Vayu Purana

(2) Vishnu Purana

(3) Bhagavat Purana

(4) Padma Purana
Options :

878270157849. 1

878270157850. 2

878270157851. 3

878270157852. 4

Question Number : 53 Question Id : 87827040185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270157849. 1
878270157850. 2
878270157851. 3

878270157852. 4

Question Number : 54 Question Id : 87827040186 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Leelavati Ganita was authorised by :
(1) Krishnadeva Rava
(2) Bhaskaracharya
(3) Ashok
)

(4) Panini

Options :

878270157853. 1
878270157854. 2
878270157855. 3

878270157856. 4

Question Number : 54 Question Id : 87827040186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270157853. 1
878270157854. 2
878270157855. 3

878270157856. 4

Question Number : 55 Question Id : 87827040187 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which Satavahana ruler is said to be the destroyer of the Scythians, Indo-Greeks and Parthians ?
(1) Satakarni |
2

(2) Vasishthiputra Pulumavi
(3) Gautamiputra Satakarni
(4

4) Simuka
Options :
878270157857. 1
878270157858. 2
878270157859. 3

878270157860. 4

Question Number : 55 Question Id : 87827040187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foFe TraaTed IT9S & Ik, Ei-Uie o1 afele o1 eaHE e ST € 2
(1) EraeRv I

(2) ST qemmE
(3)  TIHIGS FieRvll
4) faa=®

Options :

878270157857. 1
878270157858. 2
878270157859. 3

878270157860. 4

Question Number : 56 Question Id : 87827040188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which is incorrect about ‘Milind-Panho’ ?

(I)  The work is a conversation between the Greek King Milinda and Buddhist monk Nagasena.
(2)  The original text is lost and the present work is merely a Pali translation of the original.

(3) A commentary on Milind Panho was written by Dhammapala in fifth century A.D.

(4)  Some of the dialogues of the Milind Panho stand comparison with the dialogues of Plato.
Options :

878270157861. 1

878270157862. 2

878270157863. 3

878270157864. 4

Question Number : 56 Question Id : 87827040188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hfefe-a=" o fog = el i €2

(1) e 1o fafele &R &g wear FreH % o9 e # S

) Hol o HYTG & TYT A T He T e SeE B

) Tafee 9wl W =ame 5 & vrdrest (3.) H e 3R fot TS o |
) THfee g=i =l T Hag wiel & Hag % |19 fieid €|

Options :

878270157861. 1
878270157862. 2
878270157863. 3

878270157864. 4

Question Number : 57 Question Id : 87827040189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who was the presidunt of the third sangam which had its seat in Northern Madura ?

(1) Agastya
(2) Irundayur
(3) Kapilar
(4) Nakkirar
Options:

878270157865. 1
878270157866. 2
878270157867. 3

878270157868. 4

Question Number : 57 Question Id : 87827040189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qda HH A e i o, e 92 Iud "gu H o ?

(1) SATEH
(2) TEIRL
(3) AR
(4) FFRIT
Options :

878270157865. 1
878270157866. 2
878270157867. 3
878270157868. 4

Question Number : 58 Question Id : 87827040190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Babur’s son Mirza Kamran was defeated by Rao Jaitsi, the ruler of -

(I) Udaipur

(2) Jodhpur

(3) Bikaner

(4) Jaipur
Options:

878270157869. 1
878270157870. 2
878270157871. 3

878270157872. 4

Question Number : 58 Question Id : 87827040190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270157869. 1
878270157870. 2
878270157871. 3

878270157872. 4

Question Number : 59 Question Id : 87827040191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Best man-made Bawri (water body) constructed for public welfare is known as :
(1) Modera Talav

(2) RaniKi Bav

(3) Sardar Sarovar
(4) Suraj Kund
Options:

878270157873. 1
878270157874. 2
878270157875. 3

878270157876. 4

Question Number : 59 Question Id : 87827040191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
TR Fe & fou aee-fAffa 30 e (9 9E) el & |
(1) HIeq aa
2)  THI T 9
3)  HTER HlEH
) T I

Options :

Cad

(
(
(4

878270157873. 1
878270157874. 2
878270157875. 3
878270157876. 4

Question Number : 60 Question Id : 87827040192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tila-Tandula Nyaya means :

(1) Mixing of Rice Seasem

(2) Mixing of Water and Rice
(3) Mixing of Rice and Wheat
(4) Mixing of Water and Sugar

=

Options:

878270157877. 1
878270157878. 2
878270157879. 3
878270157880. 4

Question Number : 60 Question Id : 87827040192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forer-aige =g =1 a1 © .

(1) =reae IR 999 &1 fafFa e

(2) U SR FEE 6 miEd wE

(3) =rae IR A 1 fufsm
(4) T S =T R T fHfEd

Options :

878270157877. 1

878270157878. 2

878270157879. 3

878270157880. 4

Question Number : 61 Question Id : 87827040193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Jayadeva Mahakavi flourished in the court of :
(1) Pallavas
(2) Sena rulers of Bengal
(3) Rajaraja Chola
)

(4) Somavamsis of Orissa

Options:

878270157881. 1
878270157882. 2
878270157883. 3

878270157884. 4

Question Number : 61 Question Id : 87827040193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST HeThia fFaF @R § 9U5 g
(1) deoad

(2) SIS T EA AR

(3) TSI =

(4) IS GHATHEE

Options :

878270157881. 1
878270157882. 2
878270157883. 3

878270157884. 4

Question Number : 62 Question Id : 87827040194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Mahaban is situated near :
(1) Mathura
(2) Chittor
(3) Lucknow
)

(4) Panna

Options:

878270157885. 1
878270157886. 2
878270157887. 3

878270157888. 4

Question Number : 62 Question Id : 87827040194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

TereH foRas g fiem §2

() HYU

(2 fadre
(3) <&
(49
Options :
878270157885. 1
878270157886. 2
878270157887.3

878270157888. 4

Question Number : 63 Question Id : 87827040195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nama-i-Khirad-Afja is a persian translation of which famous book ?

(1) Atharva Veda

(2) Ramayana

(3) Sinhasan Battisi
(4) Mahabharata
Options:

878270157889. 1
878270157890. 2
878270157891. 3
878270157892. 4

Question Number : 63 Question Id : 87827040195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T SFAIG AH1-U-TRIe- 7o frerfefas sm-d wfg T (79) % K & 7
(1) e

(2) AW

(3) feeme i
(4) HEHRA
Options :
878270157889. 1
878270157890. 2
878270157891. 3
878270157892. 4

Question Number : 64 Question Id : 87827040196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which Sikh Guru mentions in the “Chandi Charitra’ that in the past God had deputed Durga to
destroy the evil-doers and this duty had now been assigned to him ?

(1) Guru Arjun Das

(2
§
(4

) Guru Govind Singh
) Guru Tegh Bahadur
) Guru Har Govind

]

Options:

878270157893. 1
878270157894. 2
878270157895. 3

878270157896. 4

Question Number : 64 Question Id : 87827040196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
form forg T Y 9 = o S o € o e € 3 gt ) o A ek o o A 6 few
S o1 SR 379 7 o 4 fea mn E

Options :

878270157893. 1
878270157894. 2
878270157895. 3

878270157896. 4

Question Number : 65 Question Id : 87827040197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who was the traitor who Beized Dara Shikoh and delivered him to Aurangzeb ?
Shah Navaz Khan

)
(2)  Malik Jivan
(3) Magh Raja of Arakana
(4) Rai Singh
Options :

878270157897. 1
878270157898. 2
878270157899. 3

878270157900. 4

Question Number : 65 Question Id : 87827040197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

TR foreRTE 1 TeFesRt &I 30 ST & Uy e ol faveraErd R °1?
(1) e s @

(2) HfcwR e

(3) RN o HERTS

4) T fHE
Options :

878270157897. 1
878270157898. 2
878270157899. 3

878270157900. 4

Question Number : 66 Question Id : 87827040198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is incorrect about Chauth ?

(1) It was first asserted by Shivaji in the later 17 century.

(2) Peshwa Balaji Vishwanath was the first Maratha to demand Chauth from Subahs of Deccan.
(3)  According to M.G. Ranade it was charged to provide armed security for a State by Marathas.
(4) GS. Sardesai compared the Chauth with the subsidiary alliance.

Options:

878270157901. 1

878270157902. 2

878270157903. 3

878270157904. 4

Question Number : 66 Question Id : 87827040198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o0 % aR H freaifera o 9 &8 e € 7

(1) Heus 176 Hel o Jo0 H forers 4 39 W e fou o)

(2) e TSl vy <aeR o el § =Y S A FEe BT Tl o

(3) THSH, TR % SFER TR W U4 o e Qe el oM & 1 39 o1
(4) I.TH, TEHE | =Y Hi Tor ST TIHH |

Options :

878270157901. 1
878270157902. 2
878270157903. 3

878270157904. 4

Question Number : 67 Question Id : 87827040199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not correct about Virshaiva sect ?

(1)  The Virshaiva sect was developed in modern state of Karnataka.
2) Basava is acclaimed by the Virasaivas as the reviver of the faith.
3) It emphasised strict monotheism and denial of caste.

4)  The Virshaiva sect started in thirteenth century.

Options:

878270157905. 1

878270157906. 2

878270157907. 3

878270157908. 4

Question Number : 67 Question Id : 87827040199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
drdE SUeHE & aR H feiferd § 9 -3 e Td § 7
(1) ¥ Ty 2Ny FAes 059 o fasfaa gan o1
(2) ST 9THG 39 UG (AR) & TAESiEas &k €9 H A H E |
(3) TH g¢ UHveREIE SR SIfd o SR R T o T
(4) I HYRH 1 SARY el qel | ge |
Options :
878270157905. 1
878270157906. 2
878270157907. 3

878270157908. 4

Question Number : 68 Question Id : 87827040200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which writer tells that Akbar was very interested in Women's Education and there were librarie’s
inside the harem for their use ?

(1) Ralf Fitch

(2
§
(4

Thomas Roe

]

1 Father Monserrate
j Peter Mundy
Options:
878270157909. 1
878270157910. 2
878270157911. 3

878270157912. 4

Question Number : 68 Question Id : 87827040200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
ToF ST 1 o € foF st ) wfeenadl 1 e © g afiefa of oi 36 S o fof e o ofi

R 8 ]
(1) Tew

Options :

878270157909. 1
878270157910. 2
878270157911. 3

878270157912. 4

Question Number : 69 Question Id : 87827040201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct about Hamzanama ?
(1)  According to Ala-ud-Daula Qazvini Hamzanama was a brainchild of Humayun.

2
(3
(

Humzanama was pmbabl}-' cnmplel‘ed b}f 1475 A.D.

)
) The colour scheme is bright with exotic plants and colourful flowers,
4)

The completed work consisted of nearly 1200 paintings.
Options :

878270157913. 1

878270157914. 2

878270157915. 3

878270157916. 4

Question Number : 69 Question Id : 87827040201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SEAAT & AR H freifera § 9 -1 FuE wel @ © 2

(1)  3TcT-3arel SIS o STTHR SHSAM §HIG 3 TG o |
) THSIAE GYad: 1475 94 do6 I 81 741 o |

(3) o AT wEeen & foaaw waHRs WY ek T falt wet €
) 9ul FHfa H e 1200 o= 4

Options :

878270157913. 1

878270157914. 2

878270157915. 3

878270157916. 4

Question Number : 70 Question Id : 87827040202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who was the commander of the French forces during the Third Karnatak war ?
(I) Dupleix

(2) Bussy
(3) De Lally
(4) Colbert
Options:

878270157917. 1
878270157918. 2
878270157919. 3

878270157920. 4

Question Number : 70 Question Id : 87827040202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
qda FAe® T5 ok AU WiE F HiTR 1 FATIfd A o1 ?
(1) .§'~ﬁ

(2) ot

(3) EI el

(4) hicae
Options :

878270157917. 1
878270157918. 2
878270157919. 3

878270157920. 4

Question Number : 71 Question Id : 87827040203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The year in which the Portuguese gave the Island of Bombay to King Charles II of England as
dowry for marrying a Portuguese princes was :

(1) 1510
(2) 1562
(3) 1610
(4) 1662
Options:

878270157921. 1
878270157922. 2
878270157923. 3

878270157924. 4

Question Number : 71 Question Id : 87827040203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

for e el 3 vt 37 3t o TN = i o e T % e foe e & fo e
FEuH foa a7

1) 1510
(2) 1562
(3) 1610
(4) 1662
Options :

878270157921. 1
878270157922. 2
878270157923. 3
878270157924. 4

Question Number : 72 Question Id : 87827040204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The historian who saw in the revolt of 1857 “the first combined attempt of many classes of people
to challenge a lbreign power. This is real....”

) CA. Bayly

) SN.Sen

) S.B. Chaudhuri

) Partha Chatterjee
Options:
878270157925. 1
878270157926. 2
878270157927. 3

878270157928. 4

Question Number : 72 Question Id : 87827040204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
o iR o 1857  fogle o1 foel fol wen (ift) =81 i 7 % foft g § & o il g
Tl W TAM ' e W € 9% e [ 97 Ao ¢

du, o

Options :

878270157925. 1
878270157926. 2
878270157927. 3
878270157928. 4

Question Number : 73 Question Id : 87827040205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Jawahir and Hetwa were the most important leaders of which Revolt ?
(1) Kol Revolt
2)  Kherwar Revolt

-~

3 Ramoshi Revolt

4; Rajawar Revolt
Options :
878270157929. 1
878270157930. 2
878270157931. 3

878270157932. 4

Question Number : 73 Question Id : 87827040205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sfarfet &3 waen forg fagre o gaifes weoqol a1 972

(1) = fage

(2) wER fage

(3) TmEh fage

(4) TeER fage
Options :

878270157929. 1
878270157930. 2
878270157931. 3

878270157932. 4

Question Number : 74 Question Id : 87827040206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"Every accumulation of knowledge is useful to the state.... it lessons the weight of the chain by
which the natives are held in subjection” is a statement of :

(1)  William Jones

(2) BG. Tilak

(3)  Warren Hastings

o

]

Dadabhai Naoroji

Options:

878270157933. 1
878270157934. 2
878270157935. 3

878270157936. 4

Question Number : 74 Question Id : 87827040206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T %1 T G T4 o e 3w &1 7% et o Sioft o <1 e g € 3 o o e €1
T [ FH ¢ :

(1) forferm s
(2) T TR foereR
(3) e

(4) I A
Options :

878270157933. 1
878270157934. 2
878270157935. 3

878270157936. 4

Question Number : 75 Question Id : 87827040207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The Act that initiated the process of institutionalisation of the policy of ‘Divide and Rule’ in India
was :

(I)  The Regulating Act, 1773

(2) Pitt's India Act, 1784

(3) Indian Councils Act, 1892

(4) Indian Councils Act, 1909

Options :

878270157937. 1

878270157938. 2

878270157939. 3

878270157940. 4

Question Number : 75 Question Id : 87827040207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o S o o 2 ) A T R o ) e e 3 9 o A g

Options :

878270157937. 1
878270157938. 2
878270157939. 3

878270157940. 4

Question Number : 76 Question Id : 87827040208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

'The Thacoor has ordered me saying that the country is not Sahibs... . The Thacoor himself will
fight. Therefore, you Sahibs and soldiers (will) fight the Thacoor himself’, the tribal leader who
expressed it was :

(1) Sido

Kanhu

1

)
) Birsa Munda
) None of the above

2
(3
(
Options :

878270157941. 1
878270157942. 2
878270157943. 3

878270157944. 4

Question Number : 76 Question Id : 87827040208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
I A T Fed gAY o € o < el o T § 1 TR T 7 4 | e o whew &R
forrd -&cléffdlgn{ H T | 75 o o TSI 301 1 ¢

(I

) Tl
)
)
J

%ﬁ%

]

5”3'

2
(
(1) A

)

Options :

878270157941. 1
878270157942. 2
878270157943. 3

878270157944. 4

Question Number : 77 Question Id : 87827040209 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who amongst the fDllDwi_ng edited the “ Andhra Mahila” ?

(1) Sarojni Naidu

(2) Padmja Naidu

(3) Durga Bai Deshmukh
(4) Pandita Rama Bai

Options :

878270157945. 1
878270157946. 2
878270157947.3

878270157948. 4

Question Number : 77 Question Id : 87827040209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fefafaa 5 9 ‘ any ofeen’ =1 gued e+ fear?

(1) TS g
(2) ue_rﬂrﬂag
(3) gETE <A
(4) dfsar wTeTg
Options:

878270157945. 1
878270157946. 2
878270157947. 3

878270157948. 4

Question Number : 78 Question Id : 87827040210 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who has written the book ‘Gandevta” which describes the decline of the Jajmani System in
Bengal ?
(1) Tarak Nath Das
2) Tarashankar Bandopadhayay

3)  Rabindra Nath Tagore
)

Sarat Chandra Chattopadhyay

(
(3
(4
Options :

878270157949. 1
878270157950. 2
878270157951. 3

878270157952. 4

Question Number : 78 Question Id : 87827040210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e A T f ot @ o s § e g % wvE @ e 6 T €
1) &9 <H

) AR ST
) TS &

) I g T

L ]

(
2
(
(4

Options :

878270157949. 1
878270157950. 2
878270157951. 3

878270157952. 4

Question Number : 79 Question Id : 87827040211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who amongst the following was nota member of the committee set up to enquire into the conditions
of the ten year settlement’ ?

Com Wallis

McPherson

John Shore

James Grant

Options :

878270157953. 1

878270157954. 2

878270157955. 3

878270157956. 4

Question Number : 79 Question Id : 87827040211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

'5q i % dcrrd’ i i g o o feq wfufa F wew Freifea § 9 R A2
1) e

) HeREA
) WA
) SR
Options :
878270157953. 1
878270157954, 2
878270157955. 3

878270157956. 4

Question Number : 80 Question Id : 87827040212 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Age of Consent Act, 1860 fixed the age of consent for the consummation of martiage for women
at:

(I) 10 years
(2) 12years
(3) 14 years
(4) 18 years
Options :

878270157957. 1
878270157958. 2
878270157959. 3

878270157960. 4

Question Number : 80 Question Id : 87827040212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

eufa % o aifufrm o wfeenall % foore % fou wewfa =1 et o Fifa =1 2

(1) 1094
() 12%
(3) 14 99
(4) 189
Options :

878270157957. 1
878270157958. 2
878270157959. 3

878270157960. 4

Question Number : 81 Question Id : 87827040213 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was the founder of Mewar Praja Mandal ?
(1) Motilal Tejawat

(2) Vallabh Bahi Patel

(3) Manik Lal Verma

(4) Swami Govindanand
Options :

878270157961. 1

878270157962. 2

878270157963. 3

878270157964. 4

Question Number : 81 Question Id : 87827040213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"HaTE yoT Hed' o HEATIE i ¢ 7

(1) Hidiere dsted

(2) TEAY IR T2H

(3) WUk W oA

(4) =T RS
Options :

878270157961. 1
878270157962. 2
878270157963. 3

878270157964. 4

Question Number : 82 Question Id : 87827040214 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who among the following was appointed as the superintendent of Electric Telegraph Department
in 1852 7

) Colonel Baird Smith
2)  Sir James Lyall

) O'shaughnessay

) Alexander Pittman
Options :
878270157965. 1
878270157966. 2
878270157967. 3

878270157968. 4

Question Number : 82 Question Id : 87827040214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

fepeifcfd 9§ for o 1852 ¥ forga o fom (3offogan et fewen ) a1 sl fogemt fobn T

q7

Options :

878270157965. 1
878270157966. 2
878270157967. 3

878270157968. 4

Question Number : 83 Question Id : 87827040215 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first elected president of the ‘All India Depressed Classes Association” was :
(1) Dr. B.R. Ambedkar

(2) M.C. Rajah

(3) Sahu Maharaj

(4) E.V. Ramaswamy Naicker

Options :

878270157969. 1

878270157970. 2

878270157971. 3

878270157972. 4

Question Number : 83 Question Id : 87827040215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

' sifEe ardr efed 99 o yedl Tafa s e 9 2
(1) & &3 raeHt

(2) WHH, TSI

(3) HIE HENTS

(4) A, THRETH AEHL
Options :

8782701579609. 1
878270157970. 2
878270157971. 3

878270157972. 4

Question Number : 84 Question Id : 87827040216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Opposing the partition of Bengal, the paper that made the remark that, “Will the Bengalis be able
to imitate the example of the Chinese in the boycott of foreign goods ? If they can, the path is clear
before them”,

(1) Barisal Hitaishi
Bande Mataram

2
(3) Yugantar
g

4)  The Hindu

Options :

878270157973. 1
878270157974. 2
878270157975. 3

878270157976. 4

Question Number : 84 Question Id : 87827040216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

et faver & folty U fwfefan o @ form ofiem & 9 foomh 1 78 o - "0 sl cim foceh

oAl 1 afeHR T H I % TR o ST A H W ¢ 7 9 o G ¢ 1 I 90 T

TRl
1) afwa fe
(2
(3) FR
W =g
Options :
878270157973. 1
878270157974. 2
878270157975. 3

878270157976. 4

Question Number : 85 Question Id : 87827040217 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to whom ‘Indian Nationalism was built on traditional patriotism and pre-existing sense
of territoriality”,

(1
(2
(3
(

) Partha Chatterjee

) CA. Bayly

) R.C. Mazumdar

) Dipesh Chakravarty

|
Options :

878270157977. 1
878270157978. 2
878270157979. 3

878270157980. 4

Question Number : 85 Question Id : 87827040217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

feeerfim o 8 feh S " WIecTa e o R Qriofien TR e T & o o ferer ol
% SRR EN 47

Options:

878270157977. 1
878270157978. 2
878270157979. 3

878270157980. 4



Question Number : 86 Question Id : 87827040218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who amongst the following started the Shivaji Festival ?

(1) Aurobindo

(2) Bal Gangadhar Tilak
(3) Lala Lajpat Rai

(4) Bipin Chandra Pal
Options :

878270157981. 1
878270157982. 2
878270157983. 3

878270157984. 4

Question Number : 86 Question Id : 87827040218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frefafEa o | frae et 99 & forar a1?

" -
(2) @ TMER oo
(3) e ersdd T4
(4) Tafg= =g o

Options :

878270157981. 1
878270157982. 2
878270157983. 3

878270157984. 4

Question Number : 87 Question Id : 87827040219 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who amongst the following has written the book “The Indian Struggle” ?
(1)  Dr. Rajendra Prasad
2) Maulana Azad
) Subhash Chandra Bose
4)  Bipin Chandra Pal

(
(3
(
Options :
878270157985. 1
878270157986. 2
878270157987.3

878270157988. 4

Question Number : 87 Question Id : 87827040219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafad & | foree ‘< sfeas wa’ g forel 872
(1) =i T 99E

(2) AT STSE

(3) g =g 9

(4) Tafg =g g
Options:

878270157985. 1
878270157986. 2
878270157987. 3

878270157988. 4

Question Number : 88 Question Id : 87827040220 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who amongst the following was not a member of Dhar Commission set up tolook into the Linguistic
Reorganization of States ?

(1) KM. Munshi

2} Vallabha Bhai Patel
3)  Justice Dhar
)

4)  Jagat Narain Lal

(
(3
(
Options :

878270157989. 1
878270157990. 2
878270157991. 3

878270157992. 4

Question Number : 88 Question Id : 87827040220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST 3 SMHR W T % TS Fae eR o7r & e § 4 #9 ge 76 47

(1) ®um gl

(2) Y TE 9o
(3) WI=H P

(4) ST TR e
Options :

878270157989. 1
878270157990. 2
878270157991. 3

878270157992. 4

Question Number : 89 Question Id : 87827040221 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was convicted in the ‘Mahavir Sedition Case’ for seditions writing in the journal Mahavir
edited by him ?

(I) Lala Lajpat Rai

(2) Jagat Narain Lal

(3) Murli Manohar Prasad

(4) Jai Prakash Narain

Options :

878270157993. 1

878270157994. 2

878270157995. 3

878270157996. 4

Question Number : 89 Question Id : 87827040221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et T T R g e e T 6 T W o ¥ o o e 2 o612
ofledl efafid 19

Options :

878270157993. 1
878270157994. 2
878270157995. 3

87827015799%6. 4

Question Number : 90 Question Id : 87827040222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘History is the science, no less no more’, who stated this ?

(1) R. Collingwood
(2) B. Russell

(3) H. Butterfield
(4) J.B. Bury
Options :

878270157997. 1
878270157998. 2
878270157999. 3
878270158000. 4

Question Number : 90 Question Id : 87827040222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“aftery famma €, 7 2EY Stfier 9 39 W' I foRaeR e ® 27

(1) 3. FfedTeE
(2) @l

(3) TH FgFRee
(4) S&

Options :

878270157997. 1
878270157998. 2
878270157999. 3

878270158000. 4

Question Number : 91 Question Id : 87827040223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Following are Chacolithic sites.
(A) Mohenjodaro

(B) Chahundro

(C) Kalibangan

(D) Harappa

(E) Nagarjunkonda

Choose the correct answer from the options given below :
(1) (B), (B), (A), (C) Only

(2) (A), (B), (), (D) Only

(3) (D) (B) (C), (A) Only

4) (©), (B), (D), (E) Only

Options :
878270158001. 1
878270158002. 2

878270158003. 3

878270158004. 4

Question Number : 91 Question Id : 87827040223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freifera 9 9 9 qURe O 9 % € 7
(A) HETICE

(B) e

(C) STers

(D) T

(E) TSRS

A few o famredl § | W& ST 1 = Hife:
(1) 9 (E), (B), (A), (©)

(2) %ad (A), (B), (O), (D)

(3) ¥ (D), (E), (C), (A)

(4) %99 (C), (B), (D), (E)

Options :

878270158001. 1

878270158002. 2

878270158003. 3

878270158004. 4

Question Number : 92 Question Id : 87827040224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Bhimbetka Paintings -

(A) Belong to Mesolithic Period

(B) Examples of Early India Art

(C) Drawn during the Paleolithic times

(D) Drawn of locally available colors

(E) Explain the human life during the ages

Choose the correct answer from the options given below :
(1) (A), (B), (D), (E) Only

2)  (©), D) (B), (A) Only
(3)  (A), (O, (B), (D) Only
4) (A), (B), (D), (©) Only

Options:

878270158005. 1
878270158006. 2
878270158007. 3

878270158008. 4

Question Number : 92 Question Id : 87827040224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fiaieet feser -

(A) HEAYTSIO T T |

(B) &if RAIG el % ITelU © |

(C) JEITIIOT T o SR ST TE o |

(D) TIFME T R 39 T gr ot |

(E) % g7 H WHISEH hi STl idl ¢ |
e fou U foeredl § | W& SUT 1 994 HifeId:
(1) %= (A), (B), (D), (E)

(2) F=d (), (D), (B), (A)

(3) FA (4), (O), (B), (D)

(4) &= (A), (B), (D), (O)
Options :

878270158005. 1
878270158006. 2
878270158007. 3
878270158008. 4

Question Number : 93 Question Id : 87827040225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Rashirakutas have ruled the areas covering -
(A) Maharashtra

(B) Telangana

(C) Madhya Pradesh

(D) Karnataka

(E) Tamil Nadu

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) Only

(2) (), (©), (B), (D) Only

3) (D) (E), (Q), (A) Only

4) (A) (D), (), (E) Only

Options:
878270158009. 1
878270158010. 2

878270158011. 3
878270158012. 4

Question Number : 93 Question Id : 87827040225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tzehe A feifera e = oA fean €
(A) Hellg

(B) A&l

(C) TSy

(D) AR

() dfHerg

< feu T fasedl § § War 39T ol 997 FIfel;
(1) <= (A), (B), (C), (D)

(2) = (B), (O), (B), (D)

(3) @ (D), (B), (O) (A)

(4) A (A), (D), (©), (B)

Options :

8782701580009. 1

878270158010. 2

878270158011. 3

878270158012. 4

Question Number : 94 Question Id : 87827040226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Agriculture has given boost to :
(A) Food crop Technology

(B) Metallurgical Industry
(C) Agro based Industries
(D) Counting of Stars

(E) Water Management

Choose the correct answer from the options given below :
(L) (D), (B), (B), (A) Only

(2)  (A), (B), (C), (E) Only

(3) (E), (D), (B), (C) Only

(4) (C), (A), (D), (E) Only

Options:

878270158013. 1

878270158014. 2

878270158015. 3

878270158016. 4

Question Number : 94 Question Id : 87827040226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ffa g Freifera 1 seren foen €
(A) TR wE U

(B)  TGeRH S

(C) FHig-auia 3=

(D) THaw =ht oM

(E) Se-9a%

= feu 7o forredl § | W& I 1 <A Hiford;
(1) %aa (D), (E), (B), (A)

(2) %9 (A), (B), (C), (E)

(3) ad (B), (D), (B), (O)

(4) F4 (O), (A), (D), ()
Options :

878270158013. 1

878270158014. 2

878270158015. 3

878270158016. 4

Question Number : 95 Question Id : 87827040227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Following are branches of Buddhism -

(A) Mahayana

(B) Hinayana

(C) Vajrayana

(D) Digambara

(E) Guhya Samaja

Choose the correct answer from the options given below :
(1) (A), (D), (B), (C) Only

(2)  (A), (B), (Q), (E) Only
(3) (D), (B), (O), (E) Only
(4) (E), (B), (D), (A) Only

Options:

878270158017. 1
878270158018. 2
878270158019. 3
878270158020. 4

Question Number : 95 Question Id : 87827040227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) WEEH

(B) EraM

(GEEERIE

(D) Temr

(E) Te=19HS

e fou U foeredl H§ | W& ST Rl 991 Hilad:
(1) e (A), (D), (B), (O
(2) %9 (A), (B), (C), (E)
(3) =@ (D), (B), (O, (B)
(4) ¥4 (), (B), (D), (A)
Options :

878270158017. 1

878270158018. 2

878270158019. 3

878270158020. 4

Question Number : 96 Question Id : 87827040228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which is the odd combination of temples in Karnataka ?
(A) Badami

(B) Ihole

(C) Pattadakal
(D) Hampi

(E) Kanchi

Choose the correct answer from the options given below :
(1) (B), (©), (A), (D) Only

@ (A), (O), (D), ) Only

(3)  (A) (B), (O), (D) Only

(4) (D) (B), (A), (C) Only

Options:

878270158021. 1

878270158022. 2

878270158023. 3

878270158024. 4

Question Number : 96 Question Id : 87827040228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FAieek o Higd & g0 § f=ifera o 9 1 se €2
(A) e

(B) T

(C) HesHhd

(D) et

(E) il

= feu 7o fawedi § 9 W& I H 99 FifA;
(1) e (B), (O), (A), (D)

() a4 (A), (C), (D), (B)

(3) A (A), (B), (O), (D)

(4) %9 (D), (B), (A), (O

Options :

878270158021. 1

878270158022. 2

878270158023. 3

878270158024. 4

Question Number : 97 Question Id : 87827040229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Of the following which God does not belong to Vaishnavism ?
(A) Sankarshana

(B) Vasudeva

(C) Mahadeva

(D) Shrikrishna

(E) Varaha Avatara

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

() (A), (B), (D), (E) Only

(3)  (©), (B), (A), (E) Only
4) (D) () (E), (B) Only
Options:

878270158025. 1
878270158026. 2
878270158027. 3
878270158028. 4

Question Number : 97 Question Id : 87827040229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freifera 5 § &9 § 29 Fom ud (3o gerEr) F 2
(A) HFHHT

(B) T

(C) weRd

(D) HFom

(E) dSesTdadi

1 few o fosredl § & | IR 1 =9 Fif

(1) = (A), (B), (O), (D)

Fa (A), (B), (D), (E)

2 :
(3) #F=d (C), (B), (A), (E)
(4) <= (D), (O), (E), (B)

Options :

878270158025. 1
878270158026. 2
878270158027. 3

878270158028. 4

Question Number : 98 Question Id : 87827040230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Golkonda Fort is :
(A) Built by Cholas

(B) Located in Hyderabad

(C) Western bastion of Kakateeyas

(D) Developed by Qutub Shahis

(E) The place where Bhakta Ramadasa was imprisoned

Choose the correct answer from the options given below :
(1) (B), (©), (D), (E) Only

(2)  (A), (D), (B), (E) Only

(3) (D) (A), (B), (C) Only

(4) (B), (C) (A), (D) Only

Options:

878270158029. 1

878270158030. 2

878270158031. 3

878270158032. 4

Question Number : 98 Question Id : 87827040230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



M el &1 fofet 8 ¢

(A) =rer wrEek g1 fHfHa

(B) TEUEE H sEfEYd

(C) TSI 1 qfy=e gurg &

(D) @ el gr e

(E) o ¥ STl Wakl TUHeTd & aal aar] T o
= fou 7o faekedi § 9 W& SO 1 999 HifIg:
() & (B), (O), (D), (E)

(2) A (A), (D), (B), (E)

(3) e (D), (A), (B), ()

(4) = (B), (O) (A), (D)

Options :

878270158029. 1

878270158030. 2

878270158031. 3

878270158032. 4

Question Number : 99 Question Id : 87827040231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is the author of ‘Hira Saubhagyam' which describes the visit of Jain monks to the court of
Akbar ?

(A) Siddhi Chandra Upadhyaya

() Mahesh Thakur

(C) Deva Vimala

(D) Jayasoma Upadhyaya

(E) Ranchhod Bhatt

Choose the correct answer from the options given below :
(1) (A) Only

(2)  (B) Only

() (0 Only

® () D)oy

Options :
878270158033. 1
878270158034. 2

878270158035. 3

878270158036. 4

Question Number : 99 Question Id : 87827040231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270158033. 1
878270158034. 2
878270158035. 3
878270158036. 4

Question Number : 100 Question Id : 87827040232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding Shershah Suri are correct ?
(A) Shershah defeated Humayun in the battle of Chausa.

(B) Shershah's campaign against the Gakkhars proved to be a failure.
(C) Farid was the original name of Shershah.
(

D) Shershah divided province into several sarkars and appointed chief Shigdar, Munsif and
Qazi.
(E) The Mausoleum of Shershah is situated at Sasaram.

Choose the correct answet from the options given below :
(1) (A), (B) and (C) Only

) (8) (C) and (D) Only
() (©), ) (E), (A) Only
(@) () @A) (C) () Only
Options:

878270158037. 1
878270158038. 2
878270158039. 3

878270158040. 4

Question Number : 100 Question Id : 87827040232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158037. 1
878270158038. 2
878270158039. 3

878270158040. 4

Question Number : 101 Question Id : 87827040233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Maharana Pratap are correct ?
A) Maharana Pratap was a pioneer military general who excelled in guerilla warfare.

(

(B

(C) Maharana Pratap surrendered to Akbar and accepted Mughal Suzerainty.
(

(

e

Maharana Pratap was bestowed with the title of “General Extraordinary” by the masses.

D) Maharana Pratap fought vigourausly in the battle of Haldighati.
E) Maharana Pratap was the grandson of Rana Sangram Singh.

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) Only

@ ) ©) D) () Only
) (€, ©) (E) (4) Only
(@) (D) (E) (4), (B) Only

Options:

878270158041. 1
878270158042. 2
878270158043. 3

878270158044. 4

Question Number : 101 Question Id : 87827040233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TERTO T o o W i # 9 %9 9 F97 Te ¢ 7

(A) T Yo e (SRR ) §=1 wE o fei Tieen 26 #H H 3ared W & |
(B) WETIN YT & S g1 S UGS i 3qtel | favfim foran e
(C) IERTIT WaTd  SFehoR o GHel SARAGHI fopan o 3R el il a1 i i o |
(D) WERTI FA A Be=Tael 1 g A o o |

(E) RTINS o § g % 9 9 |

el feu T foed § ¥ WE S 1 T

1) % (A), (B), (C), (D)

) W (B), (), (D),
e (D) (E)
(D),

Options :

878270158041. 1
878270158042. 2
878270158043. 3

878270158044. 4

Question Number : 102 Question Id : 87827040234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fu]lowing statements about Hemchandra Vikra_maditya are correct ?
(A) Maharaja Hemchandra Vikramaditya was the winner of 22 battles.

(B) Maharaja Hemchandra Vikramaditya enforced effective civil and military policies during
his life time.

(C) Maharaja Hemchandra Vikramaditya was born in Machherty.

(D) Maharaja Hemchandra Vikramaditya was a Rajput Ruler,

(E) Maharaja Hemchandra Vikramaditya introduced various market policies for Military
Hardware.

Choose the correct answer from the options given below :

1) (4, () (©) ) Only

) (B) (0, (D)  Only

() () () (D), () Only

@ {) (D) (O (4) Only

Options :

878270158045. 1

878270158046. 2

878270158047. 3

878270158048. 4

Question Number : 102 Question Id : 87827040234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158045. 1
878270158046. 2
878270158047. 3

878270158048. 4

Question Number : 103 Question Id : 87827040235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sultanate of Deccan sent Afzal Khan against Shivaji with instruction to
capture him dead or alive ?

(A) Berar
(B) Bijapur
(C) Goleonda
(D) Ahmednagar

(E) Bidar

Choose the correct answer from the options given below :
() (4) (0 Only

(2)  (B) Only

() () () Only

(4)  (E) Only

Options :
878270158049. 1
878270158050. 2

878270158051. 3
878270158052. 4

Question Number : 103 Question Id : 87827040235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158049. 1
878270158050. 2
878270158051. 3

878270158052. 4

Question Number : 104 Question Id : 87827040236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Rajput painting are correct ?
(A) Anand K. Coomaraswamy contributed in the field of art by discovery of Rajput painting
and establishing it as a distinct branch of Indian Artistic Tradition.

(B) The ‘Chawand Ragamala’ was painted by a muslim artist Nisaradi.

(C) The Kangra style of painting emerged in the middle of the seventeenth century.

(D) Maharaja Savant Singh, widely known as Nagari Das attributed to the Kishangarh style of
painting.

(E) Rajput painting is more than a resultant of stylistic influences of the Persian or Mughal on
the indigenous Indian Tradition.

Choose the correct answer from the options given below :

) (&) ®) (), {0) Ony

) (A) ) (D), (B Only

() () () (A) O Only

(@) (€, ) E) (B) Only

Options :

878270158053. 1

878270158054. 2

878270158055. 3

878270158056. 4

Question Number : 104 Question Id : 87827040236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158053. 1
878270158054. 2
878270158055. 3

878270158056. 4

Question Number : 105 Question Id : 87827040237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following statements are correct ?
(A) The Vaishnava impetus came first of all through the Bhagavata Purana with its glorification
of the Krishna Lila.

(B) Eknath was a contemporary of Jnanesvara and was a tailor by caste.

(C) Vithoba was the God of the Varkari-panth, a sect that has an important place in the history
of Maharashtrian devotionalism.

(D) The 'Dasabodha’ of Guru Ramdas is a compilation of his writings and sermons produced
Over many years.

(E) Visvambhar Misra is the original of chandidas.
Choose the correct answer from the options given below :
() (4) () 0)Ony

@ (B)(C) (D) Only
() (©), (D) (E) Only
(4) (D) (E), (A) Only
Options :
878270158057. 1
878270158058. 2
878270158059. 3

878270158060. 4

Question Number : 105 Question Id : 87827040237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1 A), (€, (D)

2 B), (C), (D)
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Options:

878270158057. 1
878270158058. 2
878270158059. 3

878270158060. 4

Question Number : 106 Question Id : 87827040238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The British ruled the State of M}fsore between 1831 and 1881.
Nagar rebellion was the reason for taking over Mysm‘e b},f the British.

h
—_ =

(

(B) Krishnaraja Wodevyar III lost the state to the British and remained a nominal head.
(C) Mysore State was ruled by the British from Madras.

(D) Mysore State was ruled by the British from Calcutta.

(E) Dewan Poornaiah was responsible for the taking over of Mysore State by the British.

Choose the correct answer from the options given below :

(1) (A), (), (C) Only

@ (4)(®) (D) Only
() (A), (B), (E) Only
@ (@), (C) (D)Only
Options :

878270158061. 1
878270158062. 2
878270158063. 3

878270158064. 4

Question Number : 106 Question Id : 87827040238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158061. 1
878270158062. 2
878270158063. 3
878270158064. 4

Question Number : 107 Question Id : 87827040239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct about evolution of British Administration in India ?
(A) The Regulating Act of 1773 established the Supreme Court.

(B) The Law Commission was established by the Chartr Act of 1833.

(C) The Amending Act of 1781 defined precisely the jurisdiction of the Supreme Court

(D) The Digest of Indian Laws was compiled and translated under Corn Wallis.

(E) The Mufassil Diwani Adalat and the Mufassil Faujdari Adalat was established in 1772.
Choose the correct answer from the options given below :

(M) (A), (C), D) Only

@ (©) (&) (B) Only
() (A), (B),(C) Only
() (), (©) (A) Only

Options:

878270158065. 1
878270158066. 2
878270158067. 3
878270158068. 4

Question Number : 107 Question Id : 87827040239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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() @ (A), (), (D)

(2) % (C), (E) (B)

(3) A (A), (B) (C)
(4) e (B),
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©, (4)
Options :
878270158065. 1
878270158066. 2
878270158067. 3
878270158068. 4

Question Number : 108 Question Id : 87827040240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"Our System acts very much like a sponge, drawing up all the good things from the banks of the
Ganges, and Squeezing them down on the banks of the Thames”.

(A) This is a statement by Dadha Bhai Naoroji.

(B)  John Sullivan, President of the Board of Revenue, Madras remarked.
(C) It captures the centrality of the drain of wealth of India by the British.
(D) It reflects the effects of famines on Indian Economy in the 19t century.
(

E) Ithelped the British tostrengthen their control over India by impoverishing the native economy
of self sufficiency.

Choose the correct answer from the options given below :
(1) (A) (), (D) Only

(3 () (©) (E) Only
() (C), D) (E) Only
(4) (8), (D) (E) Only
Options:
8782701580609. 1
878270158070. 2
878270158071. 3

878270158072. 4

Question Number : 108 Question Id : 87827040240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270158069. 1
878270158070. 2
878270158071. 3

878270158072. 4

Question Number : 109 Question Id : 87827040241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"Today after the downfall of German Militarism after the destruction of the autocracy of the Czar,
there has grown up all over the World a new power, the power of the people determined to rescue
their legitimate rights....".

A) It was a reaction to the Bolshevik revolution of Russia.

B) It was a statement of S.A. Dange.

(
(
(C) It was a reaction of Bipin Chandra Pal the extremist leader.
(D) It was an expression of Rammanohar Lohia.

(

E) It reflects the confidence of Indians to defeat the British.
Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2)  (B) (D), (E) Only
(3) (A (C), (D) Only
(4) (&) (), (E) Only
Options:
878270158073. 1
878270158074. 2
878270158075. 3

878270158076. 4

Question Number : 109 Question Id : 87827040241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158073. 1
878270158074. 2
878270158075. 3
878270158076. 4

Question Number : 110 Question Id : 87827040242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fullowmg statements about the N011~c00p91'alj011 Movement are correct ?
A) The Non-cooperation Movement was formally launched on 1 August 1920.

B)  The boycott of foreign cloth was not successful

D) Tilak Swaraj Fund was launched at AICC session at Vijaywada in March 1921.
E) The first chancellor of Bihar Vidyapith established at Patna was Dr. Rajendra Prasad.

Choose the correct answer from the options given below :
(1)  (A) (B), (C) Only

(
(
(C) The picketing of Toddy shops was very popular.
(
(

) () (C), (D) Only
() (©), (D), (E) Only
@ (4), (), [)Only
Options:

878270158077. 1
878270158078. 2
878270158079. 3
878270158080. 4

Question Number : 110 Question Id : 87827040242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158077. 1
878270158078. 2
878270158079. 3

878270158080. 4

Question Number : 111 Question Id : 87827040243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“Itwould be Quite impossible.... for a few hundred British to administer against the active opposition
of the whole of the politically minded of the population.

(A) Itreflects the admission of the defeatist attitude of the Viceroy Lord Mountbatten.

(B) It was the opinion expressed by Clement Attlee.

(C) The statement reflects the urgency in the British in 1947 to hazen the process of the grant of
freedom to India.

(D) It was the opinion of the Indian National Congress.

(E) It reveals the level of Political maturity of Indians in the mid 1940s.
Choose the correct answer from the options given below :

i) (B () EOnly

@ (A) B) (©) Only
() (8) () (D) Ouly
(@) (4) ©) D) Only
Options :
878270158081. 1
878270158082. 2
878270158083. 3

878270158084. 4

Question Number : 111 Question Id : 87827040243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158081. 1
878270158082. 2
878270158083. 3

878270158084. 4

Question Number : 112 Question Id : 87827040244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Maulana Abul Kalam Azad is correct ?
A) He published the weekly Al-Hilal and Al-Balagh.

B) He supported the scheme of separate electorates in the Morley Minto Reforms.

D) He opposed the recommendations of the Motilal Nehru Committee Report.
E) He opposed Gandhi Jinnah falks in 1944,

Choose the correct answer from the options given below :

(1) (A), (B), (€) Only

(
(
(C) He was the longest serving president of the Indian National Congress.
(
(

@ (&) (), (D) Only
(3) (A), (C), (E) Only
(4) (8), (C), (D) Only
Options:

878270158085. 1
878270158086. 2
878270158087. 3
878270158088. 4

Question Number : 112 Question Id : 87827040244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 113 Question Id : 87827040245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During the Quit India Movement paralle] governments were formed in some parts of the country.
(A) Balia

(B) Gorakhpur

(C) Midnapur

(D) Monghyr

(E) Satara

Choose the correct answer from the options given below :
() ) () [0)Ony

@ (A) (0) () Only
B (O ) (8)Only
) (A) (8), () Only

Options:

878270158089. 1
878270158090. 2
878270158091. 3
878270158092. 4

Question Number : 113 Question Id : 87827040245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRA BIE) ATTeH % TN S0 F F3 U 8 YRR SRR T R e
(A) Sfen

(B) TER

(C) freTR

(D) HW

() @@

:ﬁﬁﬁQﬂQﬁW@fﬂ ﬁﬂ@ﬁ?ﬂﬂqﬂ?ﬁm:
(1) ¥4 (B), (O), (D)

() ¥4 (A), Q) (B)
(8) 9 (Q), (E), (B)
(4) ¥ (A), (B), (O)

Options :

878270158089. 1
878270158090. 2
878270158091. 3

878270158092. 4

Question Number : 114 Question Id : 87827040246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"There is no unmediated access for the human mind to a genuinely knowable original and truthful
reality. Our only door to experience (Past, Present and Future) is through the primary medium of
language as a signifying process normally constituted within a frame for the exercise of power,
legitimacy, and illegitimacy’.
A) Itisa part of postmodernist discourse.
B) Itis an important position held by Michel Foucault.

) Itisareflection on the limitations of linguists.
) Ronald Barthes advocates this theory
E) Itisareflection on the limitations of language as a medium of expression.

Choose the correct answer from the options giuen below :

() (), (C) (D) Only

(@) (A) (), (C) Only
() (A) () () Only
(4)  (B), (D), (E) Only
Options :

878270158093. 1
878270158094. 2
878270158095. 3
878270158096. 4

Question Number : 114 Question Id : 87827040246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G 10 ST i 2o e o i el e o e, e () e e €1 3k (o
A SR 9few) & FH I T HUF W AN A ThH o 'Y W Sy mem g
T S5 Fe it Sifec ol e & o fom ey & o g el

(A) T YfRTREE) femel o o & |

(B) 7% fiet et it Tyt A € |

(C) T TN 1 i o B ¢

(D) s a4 34 g & e €|

(E) T HfAfeR o AW & F9 W SO F HW A e

1% fou o fomredl o W@ S A T FC

(1) = (8) (C) (D)

@ @ (@A), B) ©
() % (A) () (B
@ = (8),(D) (B
Options:
878270158093. 1
878270158094. 2
878270158095. 3

878270158096. 4

Question Number : 115 Question Id : 87827040247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“The discovery of historical facts should be scientific in method. But that, the exposition of them
for the reader partook of the nature of art, the art of written words commonly called literature”,

(A) AL Rose made this statement.

(B) G.N. Treveleyan made this statement.

(C) It aimed at rejecting the view of |.B. Bury on history.

(D) The statement insists that basically history is the combination of science and art.
(E) Spengler held the same view on history.

Choose the correct answer from the options given below :

() (A), (B), (C) Only

(@ () D) & Only
() (©), ©) (E) Only
(4 (8) (C), (D) Only
Options :
878270158097. 1
878270158098. 2
878270158099. 3

878270158100. 4

Question Number : 115 Question Id : 87827040247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wfeeries a2 %1 @t fafer SRt &t = | o 7 o et focrrn W 1 o & vy o
o v | fefim vreal Y s TR e e ¢ |

(A) T FA TG, T F ¢

(B) % o SL.UA, e 1 2|

(C) 59 e Shorm & ot A e, o) 3 g o el O €

(D) 58 %o i 39 % a7 fe 70 & fo <foem o 9 el a1 v 1

(E) TeoTert a1 ot 3feere o o H g1 owon 4|

4 fou o feepedl § 9 W8 S T FAC

(1) W (4), (8) (O

Options:

878270158097. 1
878270158098. 2
878270158099. 3

878270158100. 4

Question Number : 116 Question Id : 87827040248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Exploration Excavation
(A) Radiocarbon () Mound
(B) Trench (II) Dating method
(C) Stratigraphy (ITlT) Layers
(D) Potsherds (IV) Depth

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(I1D), (CO)-(IV), (D)-(I)

(2) (A)-(I), (B)-(11), (C)-(I), (D)-(IV)

(3)  (A)-(D), (B)-(II), (C)-(1I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270158101. 1

878270158102. 2

878270158103. 3

878270158104. 4

Question Number : 116 Question Id : 87827040248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 E(t-11

qAGToT ( FTHTT ) EQCEE]
(A) edrerEa I Fren
(B) W& ()  fafer femo
(C) Ti=EH () o (&R)
(D) ST (IV) e

A= feu 7o forredl § 4 W& 3T 1 =4 il
() (A1, (B)-(I11), (©)-(IV), (D)-(I)

(2)  (A)-(I), (B)-(IT), (C)-(I), (D)-(IV)

(3)  (A)D), (B)-(I), (C)-(II), (D)-(IV)

(4) (A1, (B)-(1V), (O)-(D), (D)-(I)
Options :

878270158101. 1

878270158102. 2

878270158103. 3

878270158104. 4

Question Number : 117 Question Id : 87827040249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Kalibengan (I) Punjab
(B) Lothal (II) Rajasthan
(C) Rakhigarhi (II) Hariyana
(D) Ropan (IV) Gujrat

Choose the correct answer from the options given below :
(1) (A)-(I0), (B)~(1V), (O)-(1L), (D)-(I)

(2)  (A)-(ID), (B)-(IV), (O)~(IID), (D)-(I)

(3)  (A)AID), (B)-(IL), (C)-(1V), (D)-(I)

(4)  (A)-(IV), (B)-(D), (C)}-(II), (D)~(II)

Options:

878270158105. 1

878270158106. 2

878270158107. 3

878270158108. 4

Question Number : 117 Question Id : 87827040249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 § eii-11 %1 e i

Teil-1 Teit-11
(A) HIAETA () U=
(B) Y@ (II) TSI
(C) TErTE (1) =ferom
(D) V) T

A= feu T ferpedi § & W& I A T Hifo:
(1) (A, B)(IV), (O-11), (D)-(1)
(2) (A1), B)-IV), (O-(D, (D)-(0)
(3) (A1), (B)-(1D), (©)-(IV), (D)-(1)
(4 (A)-IV), (B)H(D), (©)-(ID), (D)(IL)



Options :

878270158105. 1
878270158106. 2
878270158107. 3
878270158108. 4

Question Number : 118 Question Id : 87827040250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Madhva-nidana ()  Mathematics
(B) Nighantu (II) The oldest medico-botanical dictionary
(C) Ganitaskandha (IT) Preparation of quick silver and other metals
(D) Rasaratnakara (IV) Deals with pathology

Choose the correct answer from the options given below :
(D) (AHIV), (B)-{IH), (CHT), (D)-(1)
(&) (A-IV), (B)(ID), (C)-(I), (D))
(8) (A, B)-(V), (C)-(), (D)-()
(4) (A, B)-0), (O-IV), (D))

Options:

(4)
(A
(

8782701581009. 1
878270158110. 2
878270158111. 3
878270158112. 4

Question Number : 118 Question Id : 87827040250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt-1 9 G-I %1 e i

-1 Tt-11
(A) wEE-T1eH (1) I
(B) fe2 (II) YretaA fafcheaerd aTeafds Yegahy
(C)  TftT T () URE TS =7 FAH Ht GG B dAR
(D) T T (IV) ferae 9 Heiwfa
A9 feu Tu foeredi § 9 W@ I 1 = Fifo;
(1) (AHIV), (B)-(I), (C)-(T), (D)-(IT)
2 (A)-IV), (B)-(I), (O)-(I), (D}HII)
3 (A)-(1D), (B)-IV), (O-(IL), (D)-(0)
@)  (AHID, B)-0), (O~IV), (D)-(I)
Options:

8782701581009. 1
878270158110. 2
878270158111. 3

878270158112. 4

Question Number : 119 Question Id : 87827040251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List -1 List - II
(A) Qiran-us-Sadain (I} Depicts meeting between Kaiqubad and Bughra Khan
(B) Ashiga (I) Woren round the tragic love of Dewal Rani and Khizr Khan
(C) Nuh Siphir (IIT) Victories of Mubarak Khalji in the Deccan
(D) Tughlagnama (IV) The enthronement and victories of Ghiyas-ud-din Tughlag
Choose the correct answer from the options given below :
) AHL), BHI), (©)-(L), O)-{)
) (AHID, BHIV), (O-(0), (DHI)
A, (BRI, (OH{L), D}-V)

(

@ |
®) @A)
() (A)M{I), (B)-{L), (CHIV), D))



Options :

878270158113. 1
878270158114. 2
878270158115. 3
878270158116. 4

Question Number : 119 Question Id : 87827040251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl 8 el-11 1 frer it
Tl el
(A) fom-38-ge () T & T A % 4 g e o v fie €
(B) iy () <ot T @6 s @ o gaie-In T
(C) Te-faf (I1T) Rt ¥ Tk fgerstt 1 foral o o o
(D) TR (1v) frrm-32-3 ek o Tt (TmTe) v faei & am o
7 fou o fomredl # ¥ w8 SR # wA S
(1) (AHIV), (B)-{), (CH), (D)-(
@ (AR, B}-AV), (C-(1), D)-(I)
() (AL, (BHI), (O-(II), (D)-(IV)
(4)  (AJ(I), (BIT), (C-(IV), (DI
Options :

878270158113. 1
878270158114. 2
878270158115. 3

878270158116. 4

Question Number : 120 Question Id : 87827040252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I

List - List - II
(A) Warren Hastings (I)  Ancient Monuments Preservation Act
(B) Curzon () Hunter Commission
(C) Dalhousie (IIT) Benares Sanskrit College

(D) Rippon (IV) Woods Dispatch

Choose the correct answer from the np[inns given below :

(1) (A, (BHIV), (C)-(I), (D)-(1T)
(2) (A1), (B)-(I), (C)-(), (D)-(IV)
(3) (A, B)-(D), (CHIV), (D}(ID)
(4)  (AIV), (B)-(ID), (C)-(I), (D))
Options :

878270158117. 1
878270158118. 2
878270158119. 3

878270158120. 4

Question Number : 120 Question Id : 87827040252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki

-1 -1
(A) oA efeTs () YU HE0r sty
(B) s (1) & A
(C) ectersi (III) & RY T&Fd Hicrs
(D) R (V) =9 feei=

<3 e g forredl & 9 W SR 1 T I
(L) (A)-D), (B)}(IV), (C)-(II), (D)-(IT)
(2) (AW, B)-0), (O, (D)-(IV)
(3)  (A)-), (B)(D), (C-(V), (D)-(1)
(@) (A)-1V), (B)-(1L), (O)-(11L), (D)-(1)
Options:
878270158117. 1
878270158118. 2
878270158119. 3
878270158120. 4

Question Number : 121 Question Id : 87827040253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - 11
(A) Golconda Fort (I)  Rajasthan
(B) Mehrangarh Fort (II) Karnataka
(C) Raigarh Fort (II) Telangana
(D) Bidar Fort (IV) Maharashtra

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(II), (O)~(IL), (D)-(IV)
(2)  (A)-(ID), (B)-(ILD), (CO)-(IV), (D)-(I)
(3)  (A)-(IV), (B)-(I), (O)~(IL), (D)-(I)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(II)



Options :

878270158121. 1
878270158122. 2
878270158123. 3

878270158124. 4

Question Number : 121 Question Id : 87827040253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 § GEii-11 %1 e ki

-1 GE-11
(A) TEeRIvET e () TSEIH
(B) HEUHTE ke (I) FHARH
(C) TITE fehem (IIT) e
(D) et fahem (IV) HBRTZ

= feu 7o fasredi § 9 | 391 &1 994 i
(1) (A)D), (B)-(II), (O)~(1), (D)-(IV)

(2)  (A)-(1D), (B)-(ILD), (CO)-(1V), (D)-(I)

(3)  (A)-(1V), (B)(IIL), (O)-(11), (D)-(0)

(4) (A)II), (B)(D), (C)-(IV), (D)-(IT)
Options:

878270158121. 1
878270158122. 2
878270158123. 3

878270158124. 4

Question Number : 122 Question Id : 87827040254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) Birsa Munda (I) Hool
(B) Hazishariat Allah (II) Ramoshi
(C) Sidhu Kanhu (Ilf) Ulgulan
(D) Vasudeo Balwant Phadke (IV) Fairazi

Choose the correct answer from the Dptinns given below :

(D) (A, B)-(1), (O-(1V), (D)-(I)

() (A)-(1V), (B)D), (C)(I), (D)-(I1])
(3) (A, (B){IV), (O~(D), (D)-(1])
(4)  (A)-(1), (B)-(II), (C)-(1), (D)-AV)

Options :

878270158125. 1
878270158126. 2
878270158127. 3

878270158128. 4

Question Number : 122 Question Id : 87827040254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
-1 E(t-11

(A) fazEn queg OH =

(B) @IS vHIAd el (I1) T
(©) g HF (III) ST
(D) 9IS Foad Heh (IV) st

= feu 7o fasredi § 9 | 391 &1 994 i
(L) (A, (B)-(1), (O)-(1V), (D)-(I)

(2)  (A)-(IV), (B)-D), (C)-(ID), (D)-(11)

(3) (A=), (B)-(1V), (O)-(1), (D)-(II)

(4)  (A)-(D), (B)-(LI), (C)-(II), (D)-(IV)
Options:

878270158125. 1

878270158126. 2

878270158127. 3

878270158128. 4

Question Number : 123 Question Id : 87827040255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List - 1 List - 11

(A) Indrani Devi (I}  The unity of India

() BR. Ambedkar () Memoirs

(C) Dr. Rajendra Prasad (IIl) Young India

(D) Lala Lajpat Rai (IV) Administration and the Finances of the East India

Company
Choose the correct answer from the options given below :
() (AHIV), (BHLD), (CHL), D)
(@) (A}, B)-V), (C)-{1), (D)
(3) (AL, (BHT), (CHIV), (D)-(I)
( (

A -
4) - (AHL), B-IV), (CHI), (DHI)

(4)
(
(A

)
)

—_— —

Options:

878270158129. 1
878270158130. 2
878270158131. 3

878270158132. 4

Question Number : 123 Question Id : 87827040255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-1 § Felt-11 21 e e
-1 T

(A) gu () T e e

(B) W3, HFEH ()

(C) R o e (Im) = 3

(D) el A T (IV) TEMFRETA We T o ¢ 2 gfrea
7 feu o fored § 4 W& TR H1 T FfeC

(1) (AHIV), (B)-(Im), (C)-1), (D)-[)

(@) (A, B)-IV), (©O-(1), (D))

(3)  (A)HI), B, (OHIV), D))

(4 (AHD, (BHIV), (C)-(L), (D))

Options:

878270158129. 1
878270158130. 2
878270158131. 3

878270158132. 4

Question Number : 124 Question Id : 87827040256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) Madam Bhikaji Cama (I)  Free Hindustan
(B) Birendra Nath Chattopadhyay (I)  The Indian Sociologist
(C) Shyamji Krishna Verma (Ill) Bande Matram

Tarak Nath Das (IV) Talwar

(D)
Choose the correct answer from the options given below :

(1) A1), B)-V), (-1, (D)-(1)
(2 (A0, B)-(I), (O~), (D)-(IV)
(3)  (A)-(), (BHIV), (O, (D)-()
@) (A1), B)-D), (O)-(), (D)}-(IV)



Options :

878270158133. 1
878270158134. 2
878270158135. 3

878270158136. 4

Question Number : 124 Question Id : 87827040256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 § GEii-11 %1 e ki
-1 GE-11
(A) HEW sfrarst () Wl fegeH
(B) ST HSTqTEAT () g oo vt
(C) vATHS Fo oo (IIl) &< HITH
(D) ek 1Y (IV) e

= feu 7o fasredi § 9 | 391 &1 994 i
(1)  (A)-(1D), (B)-(IV), (C)-(11L), (D)-(I)

(2)  (A)-(D), (B)-(IT), (CO)-(IL), (D)-(IV)

(3) (A=), (B)-(1V), (O)-(11), (D)-(0)

(4) (A, (B)-(), (©)-0), (D)-(IV)
Options:

878270158133. 1
878270158134. 2
878270158135. 3

878270158136. 4

Question Number : 125 Question Id : 87827040257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - 11
(A) Cyclic Theory (I)  Scientific materialism
(B) Hegel (II)  Challenge and response theory
(C) Karl Marx (III) Dialectical method
(D) Arnold Toynbee (IV) Oswald Spengler

Choose the correct answer from the options given below :
(D) (A, B)-0), (O)-(IV), (D)-(1)

(2) (A, (B, ©-1), (D)-1V)

(3)  (A)(I), (B)-(IV), (O)(1), (D)-(ID)

(4)  (AHIV), (B)-(IIL), (O)-(T), (D)-(L)

Options :

878270158137. 1

878270158138. 2

878270158139. 3

878270158140. 4

Question Number : 125 Question Id : 87827040257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 § GEii-11 %1 e ki
TEl-1 -1

(A) =fwa fagr () S ifdwars

(B) &/ ETA (I1) AR Td sfwa fagr
(C) Tl A (Il1) Bgrewek fafw

(D) oFHiee sl (IV) TEaee W=TeR

A feu T ferredl § | W@ 9T @1 = S
(1) (A)-(D), (B)-(1), (O)-(V), (D)~(IL)
(2) (A, (B)-(ID), (©)-(1), (D)-(IV)
(3) (A, (B)A(IV), (O)I), (D)-(IT)
(@) (AHIV), (B)(IL), (O)-(). (D))

Options:

878270158137. 1
878270158138. 2
878270158139. 3

878270158140. 4

Question Number : 126 Question Id : 87827040258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Atmavai Sarwabhutani, teaches -
(A) Souh is present everywhere

(B) Think all others are like you

(C) God is every where

(D) No God

(E) All beings are in you

Choose the correct answer from the options given below :
(1) (D), (A) (C), (B)

(2 (E), (A), (B), (D)

(3) (A (B), (Q), (E)

(4) (A), (D), (B), (©



Options :

878270158141. 1
878270158142. 2
878270158143. 3

878270158144. 4

Question Number : 126 Question Id : 87827040258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

streqfa wayart, 9 faen faemr 1

(A) A e B

(B) YA ST & gHU o &N H Qe |

(C) %9eR GefeaTdt 2|

(D) TV TE 2|

(E) Wt g &9 H e (foemm) 3 § |
9 fau o faesredi § § W& SWT 1 9949 Fifou:
(1 (D), (A), (©), (B)

(2 (E), (A), (B), (D)

(3)  (A), (B), (O). (E)

4) (A), (D) (B), ©

Options:

878270158141. 1

878270158142. 2

878270158143. 3

878270158144. 4

Question Number : 127 Question Id : 87827040259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Srimad Ramayana is a continuous text on morality to be followed by all human beings. Because,
it teaches about -

(A) Respect to parents

(B) Relation between brothers

(C)  Accepting the qualities of even an enemy

(D) Maintaining relations even with tribal people

(E)  Drinking is an un-sin

Choose the correct answer from the options given below :

() () ®) D)

@ (), E) @A) ©
() (E), () (A) (D)
(@) (&) B) () D)
Options :

878270158145. 1
878270158146. 2
878270158147. 3

878270158148. 4

Question Number : 127 Question Id : 87827040259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (D), (E

(B), (€), (A). (€
(E), (), (4), (D )
(A),

Options :

878270158145. 1
878270158146. 2
878270158147. 3

878270158148. 4

Question Number : 128 Question Id : 87827040260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Buddhist Art teaches about -

(A) Life after Death (Punarjanma)
(B) Controlling of Emotions

(C) War Against Vedism

(D) Universality

(E) Life in Animals too

Choose the correct answer from the options given below :
(1) (©), (A), (B, (E)

(2) (A), (B), (D), (E)

(3)  (B), (O), (A) (D)

(4) (©), (B), (D), (E)

Options :

878270158149. 1

878270158150. 2

878270158151. 3

878270158152. 4

Question Number : 128 Question Id : 87827040260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dig el 9 ferass o) ¥ faen firerdr €2
(A) T qLETd SffeH ()

(B) WA W T

(C) dfeer uid & fowg g

(D) wreifeRd

(E) w9Iafi ® off St

(1 (©), (A), (B), (E)

(2) (A), (B), (D), (B)

(3) (B), (O), (A), (D)

4) (©), (B) (D), (E)



Options :

878270158149. 1
878270158150. 2
878270158151. 3

878270158152. 4

Question Number : 129 Question Id : 87827040261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Indian Economy, during early and medieval periods was dependent upon -
(A) Agro-Industry

(B) Metal Industry

(C) Clay Industry

(D) Cigarette Industry

(E) Stone Industry

Choose the correct answer from the options given below :

L) (A) D) () (©)

2 (D) (E) (), (©
@) (A) ©), (D) E)
4) (A) (B), (C), (E)
Options:

878270158153. 1
878270158154. 2
878270158155. 3

878270158156. 4

Question Number : 129 Question Id : 87827040261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) ®rg ZEmm
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e feu o fosredl ® 4§ War 39 1 9949 Fife;
(D (A), (D), (B). (O

2) (D), (B), (B), (C)

(@) (A), ©), (D), (B)

(4) (A), (B), (O (E)

Options:

878270158153. 1

878270158154. 2

878270158155. 3

878270158156. 4

Question Number : 130 Question Id : 87827040262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hero stones (Veera Sila) are planted to remember his/her dedication to the society, even facing

death, for -

(A) Protection of Animals

(B) Saving the Dharma

(C) Sacrificing for the Country

(D) Honor of the Family

(E) Professional Killing

Choose the correct answer from the options given below :
0 ), (E) ) @)

@ (&) @) () D)
() (B);( ) (A), (B)
@ () @) (©) O



Options :

878270158157. 1
878270158158. 2
878270158159. 3

878270158160. 4

Question Number : 130 Question Id : 87827040262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) RIS % W

(B) -ty

(C) <% fer afere

(D) TR o F7H
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Options:

878270158157. 1
878270158158. 2
878270158159. 3

878270158160. 4

Question Number : 131 Question Id : 87827040263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological sequence.

(A) Amoghavarsha III overthrows Govinda IV and occupied the Rashtrakuta throne.
(B) Battle of Vellur in which Cholas defeated the Pandyas and the Sinhalese.

(C) End of the Utpala dynasty in Kashmur,
(

D) Queen Sugandha deprived of her power and partha, ten year old son of Nirjitavarman was

placed on the throne of Kashmir,
(E) Destruction of Kannauj by Rashirakutas.

Choose the correct answer from the options given below :
(1) (), (E) (A), (©), D)

@ ) @) @) C), D)
() () (B), (E), (4), (©)
@ (@), D) E) (C), (A)
Options :
878270158161. 1
878270158162. 2
878270158163. 3

878270158164. 4

Question Number : 131 Question Id : 87827040263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) (8), (E) (&), (C), (D)
@ @, (@A) ), C. D)
(3) D) ({) (&), 4) ©
() (), (D) (E), (C) (A)
Options :

878270158161. 1
878270158162. 2
878270158163. 3

878270158164. 4

Question Number : 132 Question Id : 87827040264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order in descending order,
(A) Panna of Mewar after learning of Vikramaditya's murder send his son Uday Singh out of the
fort and placed her own son on the bed to befool the murderer.

(B)  The battle of Haldighat was fought between Maharana Pratap and imperial troops of Akbar.

(C) Akbar invested Sagar, a son of Maharana Uday Singh, with the title of ‘Rana’ and designed
to set him on the throne of Chittor.,

(D) Uday Singh was married to the daughter of Akhairaj,
(E) Jaimal, the commander of the garrison of Chittor fort was killed by a shot of the cannon.

Choose the correct answer from the options given below :
) @) 6), D) C

(@ (©) () () (D), (A)
() (A), (D) (), () ()
(@) (®) ©) D) (E) @)
Options :
878270158165. 1
878270158166. 2
878270158167. 3

878270158168. 4

Question Number : 132 Question Id : 87827040264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158165. 1
878270158166. 2
878270158167. 3

878270158168. 4

Question Number : 133 Question Id : 87827040265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Choose the events in ascending order.
(A) End of the Shahmir dynasty in Kashmir

(B) The battle of Rakshasi Tangadi

(C) Murder of Abul Fazl by Bir Singh Bundela
(D) The Death of Mir Jumla of Golconda

(E) Revolt of Gokula Jat of Tilpat

Choose the correct answer from the Dpl’iDIlS given below :

(1) (A) (B), (©), (E), (D)

2 (A (©), (B), (), (D)
3) (A (B), Q) (B), (D)
4) (D) (E), (A), (O) (B)
Options:

8782701581609. 1
878270158170. 2
878270158171. 3

878270158172. 4

Question Number : 133 Question Id : 87827040265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafiaa seet = swife o0 o =i $ifsu |
(A) HIHR H IMEHR T o GHI |
(B) VETHI-TITEl 1 I3 |
(C) wR-fHe d<a g1 S/ 9a wsial 1 8ol |
(D) TRl & HR-SHAT i e |
(B) faerud & Tigpel =ie 1 fagie |
(L (A), (B), Q) (E), (D)

(2 (A) (), B), (E), (D)
(3)  (A) (E), (©), (B), (D)
4) (D) (B) (A) (), (B)



Options :

878270158169. 1
878270158170. 2
878270158171.3
878270158172. 4

Question Number : 134 Question Id : 87827040266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in ascending order.
(A) Tukaram

(B) Chaitanya Mahaprabhu

(C) Eknath

(D) Jnanesvara

(E) Ramdas

Choose the correct answer from the options giu en below :

(1 (B), (A), ©), (D) (E)

2)  (B), (Q) (D), (B), (A)
(3) (D) (A) (B), (C) (E)
4) (D) (B) (O, (A) (E)

Options:

878270158173. 1
878270158174. 2
878270158175. 3
878270158176. 4

Question Number : 134 Question Id : 87827040266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafEa i sTRiEr shH H Jaferd sifeg |
(A) dHH

(B) I HEY

(C) TTH™

(D) FHIR

(E) TMe™

< feu T fasedl § § War 39T ol 997 FIfel;
(1) (B), (A), (©), (D), (E)

(2) (B), (O) (D), (E), (A)

(3) (D) (A), (B), (C), (E)

(4) (D), (B), (©), (A), (E)

Options:

878270158173. 1

878270158174. 2

878270158175. 3

878270158176. 4

Question Number : 135 Question Id : 87827040267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the correct chronological order of their begining.
(A) Bardoli Satyagraha

(B) Bihpur Satyagraha

(C) Rowlatt Satyagraha

(D) Ahmedabad Mill Strike

(E) Kheda Satyagraha

Choose the correct answer from the options given below :

(1) (A (E), ©), ) D

)
@ B), Q) (B), (D), (A)
@) D) (A), ©) (E) (B)
(4) D) (B) (C), (A) (B)



Options :

878270158177. 1
878270158178. 2
878270158179. 3
878270158180. 4

Question Number : 135 Question Id : 87827040267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Frefferfias =1 S W B 3 TE HRER s wf
A) SNEEl HAWR
B) WY HcUNE
) el FEmE
D) HeHgEE Jciie
E) el §ame
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(1) (A), (E), ©), (B), (D)
(2) (B, (O (E) (D), (A)
(3) (D) (A), ©), (B) (B)
4) D) (E) (O (A) (B)

Options:

878270158177. 1
878270158178. 2
878270158179. 3
878270158180. 4

Question Number : 136 Question Id : 87827040268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Bharat was born of Shakuntala and Dushyanta because,
Reason (R):  He was reared by the Shakuntala.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270158181. 1

878270158182. 2

878270158183. 3

878270158184. 4

Question Number : 136 Question Id : 87827040268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158181. 1
878270158182. 2

878270158183. 3



878270158184. 4

Question Number : 137 Question Id : 87827040269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Kalhana's Rajatarangini is a historical record rulers of Kashmir,
Reason (R):  But Samudragupta is not referred. Therefore Kalhana's work is incomplete.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270158185. 1

878270158186. 2

878270158187. 3

878270158188. 4

Question Number : 137 Question Id : 87827040269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158185. 1

878270158186. 2

878270158187. 3

878270158188. 4

Question Number : 138 Question Id : 87827040270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The missionaries were allowed to settle in British India under a licence system
only from 1813,

Reason (R):  However, such controlled entry remained the rule only till 1833,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270158189. 1

878270158190. 2



878270158191. 3

878270158192. 4

Question Number : 138 Question Id : 87827040270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270158189. 1
878270158190. 2
878270158191. 3

878270158192. 4

Question Number : 139 Question Id : 87827040271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Sardar Vallabhbhai Patel told M.A. Jinnah that “The sword will be met with the
sword”,

Reason (R):  Sardar Vallabhbhai Patel made himself explicit with the above expression in the
backdrop of Lord Wavell supporting M.A. Jinnah to corner the Congress.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270158193. 1

878270158194. 2

878270158195. 3

878270158196. 4

Question Number : 139 Question Id : 87827040271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270158193. 1
878270158194. 2
878270158195. 3

878270158196. 4

Question Number : 140 Question Id : 87827040272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The Lucknow Congress of 1916 was significant for the famous Congress League
Pact. Tilak played a major part in .

Reason (R):  Tilak was a staunch supporter of the scheme of separate electorates for the
Muslims.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270158197. 1

878270158198. 2

878270158199. 3

878270158200. 4

Question Number : 140 Question Id : 87827040272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Id : 87827040273 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



During the Paleolithic times and Mesolithic times, known as prehistoric age humans were nomads,
They were hunter gatheres. For their hunger, they were to be dependent on trees, plants and fruits
which are normally formed out of seasonal changes. Such are known as vegetarian foods, for
their non-vegetarian foods, i.e. animal flesh, they were to be dependent upon animals like, rabbit,
sheep, goat etc. In the process of killing them, they had to fight with them physically. Since the
physical power of animals is more than humans, many times they died in the process of course the
animals too. This continued for millions of users, till humans invented implements made of stone,
known as stone tools and stone equipments like hand axes. In the beginning they were core.
Later they were refined and are called as refined implemented. By Mesolithic times shall tools
were also made. Ina way, this invention of tools could be explained as Fish Industrial Revolution.

Sub questions

Question Number : 141 Question Id : 87827040274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When were humans were hunter gathers ?
(1) During Prehistoric times

(2) During Neolithic times

(3) When they became settlers
(4) During Agricultural growth
Options :

878270158201. 1
878270158202. 2
878270158203. 3

878270158204. 4

Question Number : 142 Question Id : 87827040275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fﬂll{}wjng do not include vegetarian food ?
(1) Fruits

(2) Flowers

(3) Leaves

(4) Rabbit

Options:

878270158205. 1

878270158206. 2

878270158207. 3

878270158208. 4

Question Number : 143 Question Id : 87827040276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What happened during killing the animals ?
(1) They became furious and attacked
(2) Humans got wounded
(3) One and two are correct
)

(4) Darkness prevailed

Options :

878270158209. 1
878270158210. 2
878270158211. 3

878270158212. 4

Question Number : 144 Question Id : 87827040277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Why the tool making times are considered as First Industrial Revolution ?
(1) Humans were hunter gatherers

(2) Animals were killed physically
(3) Tools were used to supplement human strength
(4) Humans could not physically kill animals

Options:

878270158213. 1
878270158214. 2
878270158215. 3

878270158216. 4

Question Number : 145 Question Id : 87827040278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which are the ages included in the Prehistoric age ?
(1) Paleolithic times

(2) Housebuilding times

(3) Showing physical power
) Stone times

(4
Options :
878270158217. 1
878270158218. 2
878270158219. 3

878270158220. 4

Question Id : 87827040273 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827040274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158201. 1
878270158202. 2
878270158203. 3

878270158204. 4

Question Number : 142 Question Id : 87827040275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158205. 1
878270158206. 2
878270158207. 3

878270158208. 4

Question Number : 143 Question Id : 87827040276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158209. 1
878270158210. 2
878270158211. 3

878270158212. 4

Question Number : 144 Question Id : 87827040277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR (STRTOT) T STt o1 Yo afreitfirer aif 3 &9 % o W o g 2
(1) TIe SEEH-HEF o1

) SE: TY R AR T

3)  SiISIRI %1 YA W deRd W o % o €9 § {1 S o

) WY T TEE A Tl AR T

Options:

878270158213. 1

878270158214. 2

878270158215. 3

878270158216. 4

Question Number : 145 Question Id : 87827040278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270158217. 1
878270158218. 2
878270158219. 3

878270158220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701688
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827040279 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

The Indian Legal System under the British was based on the concept of equality before law.
This meant that in the eyes of the law will men were equal. The same law applied to all persons
irrespective of their caste, religion or class. Previously, the judicial system had paid heed to caste
distinctions and had differentiated between the so-called high born and low born. For the same
crime lighter punishment was awarded to a brahmin than to a non-brahmin, Similar in practice
zamindars and nobles were not judged as harshly as the commons. In fact, very often they could
not be brought to justice at all for their actions. Now the humble could also move the machinery of
justice.

There was, however, one exception to this excellent principle of equality before law. The
Europeans and their descendants had separate courts and even laws. In criminal cases they could
be tried only by European Judges. Many English officials, Military Officiers, Planters and Merchants
behaved with Indian in a haughty, harsh, and even brutal manner. When efforts were made to
bring them to justice, they were given indirect and undue protection, and consequently light or no
punishment, by many of the European Judges before whom alone they could be tried. Consequently,
there was frequent miscarriage of justice.

Sub questions

Question Number : 146 Question Id : 87827040280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Charter Act that conferred all law making powers on the Governor-General in Council was :
(1) Charter Act 1793

(2) Charter Act 1813

(3) Charter Act 1833

(4) Charter Act 1853

Options :

878270158221. 1

878270158222, 2

878270158223. 3

878270158224. 4



Question Number : 147 Question Id : 87827040281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Legal System introduced by the British was based and evolved on :
(1) Shastras

(2) Shariat
(3) Both Shastras and Shariat
(4) Interprefation of native laws along with western derived codes

Options :

878270158225. 1
878270158226. 2
878270158227. 3
878270158228. 4

Question Number : 148 Question Id : 87827040282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The purpose of the codification of legal system in India by the British was :
(1) To control the revenue administration

(2) To protect the interests of the British officials
(3) To protect the interests of native Zamindars, Merchants and Planters
(4) To advance the overall interest of the British in India.

Options :

878270158229. 1
878270158230. 2
878270158231. 3
878270158232. 4

Question Number : 149 Question Id : 87827040283 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Governor-General who initiated the process of the codification in India was :
(1) Lord Cornwallis

2
3

4

(2) Lord Warren Hastings
(3) Lord Bentinck

(4) Lord Dalhousie
Options :

878270158233. 1
878270158234. 2
878270158235. 3

878270158236. 4

Question Number : 150 Question Id : 87827040284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The above passage refers to :

(I) the organisations of Military Administration
(2) Inequality in the application of laws to women
(3) Shariat

(4) Inequality in the application of law in India
Options :

878270158237. 1

878270158238. 2

878270158239. 3

878270158240. 4

Question Id : 87827040279 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827040280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158221. 1
878270158222. 2
878270158223. 3

878270158224. 4



Question Number : 147 Question Id : 87827040281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270158225. 1

878270158226. 2
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Question Number : 148 Question Id : 87827040282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158229. 1
878270158230. 2
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Question Number : 149 Question Id : 87827040283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158233. 1
878270158234. 2
878270158235. 3
878270158236. 4

Question Number : 150 Question Id : 87827040284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270158237. 1
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